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[bookmark: Creation:][bookmark: PROGRAM:]AIM:
[bookmark: e) lp][bookmark: AIM:]To write a C program for implementation of SJF scheduling algorithms.
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[bookmark: UNIX:][bookmark: CONTENT:][bookmark: ALGORITHM:][bookmark: ALGORITHM:][bookmark: Concatenate:][bookmark: ALGORITHM:][bookmark: ALGORITHM:]Step 4: Assign p[0] wtime as zero and tot time as btime and inside the loop calculate wait time and turnaround time.
[bookmark: g) who & whoami][bookmark: a) date]Step 5: Calculate total wait time and total turnaround time by dividing by total number of process.
[bookmark: PROGRAM:][bookmark: 3. Write a Shell program to find the fac]Step 6: Print total wait time and total turnaround time. Step 7: Stop the program.
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[bookmark: LINUX:][bookmark: PROGRAM:][bookmark: PROGRAM:][bookmark: PROGRAM:][bookmark: Features of vi:][bookmark: PROGRAM:][bookmark: PROGRAM:][bookmark: PROGRAM:][bookmark: PROGRAM:][bookmark: FLOWCHART:]#include<stdio.h> #include<stdlib.h> typedef struct
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[bookmark: PROGRAM:][bookmark: ROGRAM:][bookmark: STRUCTURE OF A LINUXSYSTEM:][bookmark: b) cal][bookmark: PROGRAM:][bookmark: PROGRAM:]int pid; int btime; int wtime;
[bookmark: j) hostname][bookmark: 3. PROGRAM FOR SIMULATION OF GREP UNIX C]}
sp;
int main()
[bookmark: c) echo]{
[bookmark: k) bc][bookmark: 2. Write a Shell program to check the gi]int i,j,n,tbm=0,towtwtime=0,totttime sp*p,t;
[bookmark: UNIX KERNEL:][bookmark: EMACS Editor][bookmark: d) ls]printf("\n sjf schaduling ..\n"); printf("enter the no of processor"); scanf("%d",&n); p=(sp*)malloc(sizeof(sp)); printf("\n enter the burst time"); for(i=0;i<n;i++)
[bookmark: SHELL:]{
printf("\n process %d\t",i+1); scanf("%d",&p[i].btime); p[i].pid=i+1;
 p[i].wtime=0;	
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}
for(i=0;i<n;i++) for(j=j+1,j<n;j++)
{
if(p[i].btime>p[j].btime)
{
t=p[i]; p[i]=p[j]; p[j]=t;
}}
printf("\n process scheduling\n"); printf("\n process \tburst time \t w for(i=0;i<n;i++)
{
towtwtime+=p[i].wtime=tbm; tbm+=p[i].btime; printf("\n%d\t\t%d",p[i].pid,p[i].bt printf("\t\t%d\t\t%d",p[i].wtime,p[i
}
totttime=tbm+towtwtime;
printf("\n total waiting time :%d", totwtime ); printf("\n average waiting time :%f",(float)totwtime/n); printf("\n total turn around time :%d",totttime);
printf("\n average turn around time: :%f",(float)totttime/n);
}
